5. Th| ds varies dlrectly with the égmber of trees in the area.

When thereare 60 trees the scientist counted 135 birds.

a) Find the variation constant. Include units.
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b) Write a direction variation equation.
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¢) Find the number of trees if there are é24 bird§
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Solve.

Simplify.
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State the Domain and Range of this graph State the Domain and Range of this graph
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Use these functions:

Find the rate of change. Include units.
g(x)=2x+3
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Find the rate
of change.
Include units

1.6 seals/shark
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Write the equation of the line that passes through these
two points in Slope-Intercept Form,
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